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8. Use a symbol to write an inequality that corresponds to this statt: xXis I%?ru;n or equal to 4
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| 6. Solve: 1\-1-{--—]4 @) q.[_'-x-j-s'gj .-'t’:rdw
a. v=-1 ¥=2 (:>v--2 ©v=-2 Yx +20 =16
Thnstan
| 7. A number times 3, minus 6, is 8. Write an equation to determine the number, i %
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Short Answer. Remember to SHOW YOUR WORK for all questions in this section]
1 .Solve the following equations:
My - 5%
a) In+4=67 by 8x-2=5x+10 €) 3(x+4)=24 2
—. T -rz- +1Z +
q_g '53 Ix-2= 10 ~3x~1Z = X4
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2. A student solved this equation: 3%+ 5= 18
o a} Circle the errors the student made.

+5=18  Subtrack 5 Sirst b) Solve the equation in the space provided:
3x 13 Ix+52 185

ONE); )
X+5=
X+5-5=06-5

x=1 X = !7

3. State “yes™ or “no™ to indicate if you would reverse the inequality sign to solve nq.chmequahty
a) 6<=-x yes { Hou \.uau'id'l have 4= divide bﬂ ey
b) 232‘4 nr. Sl Ul i:uj =L
c) _4 i . 1 h al

-
d) ?:“9 y First Yoy woold h\o'l,k-\p] b -Hﬂrt_e. bt
-H'v.:'n ﬂou u_)nu\(hj ha\.’f_% Q\\hdﬂ hj =1

1 'muHipl.J bj - i

4. Define a variable and write an inequality to describe the situation,

a) You must be under 12 years old to play for the Mini Tommies. J( £ ;i

b) Student Council must sell at least 45 t-shirts to make a profit, e = "f‘;
3. Graph the solution on a number line. 5
a) Ow = -27 b) 35=-0y+5 5 < lj
T 0Z-b R
e s J :_E‘; _—_-‘:5 Y 2 -5
54 -3-2-10 12 3 45 w PR TR T B
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